
MTH 352/652: Homework #10

Due Date: April 26. 2021

1 Problems for Everyone
1. pg. #283, 7.3.10473.11#7312, 7.3.11.

&Fild the convolution of the functions f(x) = x and g(x)
G’onsider I lie following initiaL valne problem For t Lie heat equation xviI h proportional heat loss:

a, = Do-. — on. a’ C L. t > 0.

a:) =

where D > 0 a tid a > 0 are constauts. Using Fourier transforms find a formula for the solution
to tins initial vii Inc prohlem

D’mmslder the following initial value problem for the heat equation with advert ion:

Dorr — cur, a: eR, t >0.
i(0. a:) =

where D > 0 and c > 0 are constants. Using Fourier transforms bud a formula for the solurion
to this initial value problem.

Use Fourier t ransforumis to Ibid hounded solutions to the following diftereutial equatiou on

— o”(a) + aft) =

Consider the following initial value problem for the heat equation:

= Do,.r. a: C IL t >0.
o(0 a:) = f(.r).

where D > 0 is a constant. Show’ that if f(.r) is an odd function then u(t. a) is an odd function
iii a:.
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Covs;4er 4-ke i44-’.a1 voILtc prolates-. 4v’ +kL kcci+ C1L14+Ibv1

w;ci-L i,tc+ 1V55.
2.

U÷Duau 1oriX
wkcr fl>t q tb#15+e41-5. Us;’7. F6O(i(r 1raH5J:bft..s, -F;.d -Pbr,ssiI4

Fbr -fkt 5lu+e i- +k; 1F4-1 VOILI-c prz’kiIs....

__-- ____

O O(qk)e b+a’A- -________

____

u=

_________ __ ____

e”WtOe1ct]
=eZ u1cs)e-4

—

____

e
a

__

(n;4cr- i4c iø:4;4 valve Kit heat

u*=Dv,cu, ut)cc
Wkcrc ; c >o. Vøvr:,r -i-y’airis.hnns, -P,.A ti FirinutQ 4r flit

t’b fks Iwt4 vatv-c roL[cw..
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